
1 5 5  T w i n  1 2 0 0 w

S e r v i c e  P a r t s  L i s t

RAGE TWIN

64

65

55 56

63

54

53

5248
39

51

45

46

47

39

49

42

43

41

38

59

18 2019

12

14

1516
17

13

1

76
77

74

75

73

72
69

71

60

80
79

67

68

66

78

11

10

61

58

40

50

57

62

37

36

M1

®

074-0001.01



1 5 5  T w i n  1 2 0 0 w

S e r v i c e  P a r t s  L i s t

RAGE TWIN®

Item Description Part No Qty
M1 Gearbox complete EVT155SM1 1
1 Lock nut EVT155S1 1
10 Hexagon bolt M6x10 EVT155S10 1
11 Pin EVT155S11 1
12 Handle base EVT155S12 1
13 Hexagon bolt M8x12 EVT155S13 1
14 Sping washer 8 EVT155S14 1
15 Nut M8 EVT155S15 1
16 Handle bracket EVT155S16 1
17 Additional handle EVT155S17 1
18 Knob EVT155S18 1
19 Hex nut EVT155S19 1
20 Spring EVT155S20 1
36 Screw M4x16 EVT155S36 1
37 Guard sleeve EVT155S37 1
38 Hexagon bolt M5x20 EVT155S38 1
39 Spring washer 5 EVT155S39 2
40 Washer 5 EVT155S40 1
41 Blade guard EVT155S41 1
42 Self tapping screw ST4.8x16 EVT155S42 1
43 Lubricating unit EVT155S43 1
44 Lubricating pipe EVT155S44 1
45 Rubber stop EVT155S45 1
46 Guard spacer EVT155S46 1
47 Wrench EVT155S47 1
48 Retractable guard EVT155S48 1
49 Spring EVT155S49 1
50 Guard sleeve EVT155S50 1
51 Guard knob EVT155S51 1
52 Washer EVT155S52 1
53 Screw M5x10 EVT155S53 1
54 Baffle ring 10 EVT155S54 1
55 Bearing 6000-2Z EVT155S55 1
56 O-ring 25x2 EVT155S56 1
57 Cover EVT155S57 1
58 Armature 110V EVT155S58 1
58A Armature 230V EVT155S58A 1
59 Bearing 607-2Z EVT155S59 1
60 Bearing sleeve EVT155S60 1
61 Dust seal EVT155S61 1
62 Self tapping screw ST4.2x70 EVT155S62 2
63 Field coil 110v EVT155S63 1
63A Field coil 230v EVT155S63A 1
64 Housing EVT155S64 1
65 Brush holder EVT155S65 2
66 Carbon brush 110V (pr) EVT155S66 1
66A Carbon brush 230V (pr) EVT155S66A 1
67 Brush cap EVT155S67 2
68 Left handle EVT155S68 1
69 Cap EVT155S69 1
71 Self tapping screw ST4.2x30 EVT155S71 2
72 Right handle EVT155S72 1
73 Switch EVT155S73 1
74 Switch cap EVT155S74 1
75 Cord connector EVT155S75 1
76 Capacitor EVT155S76 1
77 Cable clamp EVT155S77 1
78 Self tapping screw ST4.2x16 EVT155S78 5
79 Cable protector EVT155S79 1
80 Cable & plug 110v UK EVT155S80 1
80A Cable & plug 230v UK EVT155S80A 1

E v o l u t i o n  P o w e r  T o o l s  L t d
Venture One, Longacre Close, Holbrook Ind Estate, Sheffield, S20 3FR, UK

Tel: +44 (0) 870 609 2297  Fax: +44 (0) 114 247 3339  www.evolutionpowertools.com

074-0001.01


